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GTECH 201 Final Exam Spring 2005
1. A British political geographer wants to determine if the Labour party candidate for Parliament has a similar level of support among the voting population in two neighboring towns. The proportion of a random sample of voters in each town favoring the candidate is recorded. How may one test if the difference in support for the candidate between the two towns is significant?
(  two-sample different of means
(  two-sample difference of proportions
(  one-sample difference of means
(  two-sample difference test—Wilcoxon/Mann-Whitney

2. A cartography student has set up a research paper project. She wants to contrast the map interpretation skills of male versus female university students. Taking map interpretation test scores from 18 male and 20 female students, she places them in overall rank order, from highest score to lowest score. What technique should she use to determine if male and female map interpretation skills are similar or different?
(  Chi-square
(  Wilcoxon matched-pairs signed difference test
(  two-sample difference of means
(  two-sample difference test—Wilcoxon/Mann Whitney

3. A fluvial geomorphologist is studying surface runoff levels in two different environments: (1) a natural setting with no modification by human activity, and (2) an urban setting, highly modified through development. To test for significant differences in runoff, spatial random samples are taken from both settings. Suppose the runoff data are ordered from high to low within the two sampled areas. What test should be used to see whether the mean runoff from the urban area exceeds that in the rural setting?
(  two-sample difference of means
(  two-sample difference test—Wilcoxon/Mann-Whitney
(  two-sample difference of proportions
(  one-sample difference test—Wilcoxon/Mann-Whitney

4. A geographic data structure in its most elementary form consists of
(  either raster or vector data
(  coordinates
(  points, lines, and polygons
(  positions, attributes that describe what can be found at those positions, and when they were found

5. A hydrologist is studying the volume of material carried by two rivers (expressed in grams of solid material per liter of water). One river drains an agricultural area, while the other drains a forested area. To test for differences in volume of material carried, 12 random water samples are taken from both rivers (one sample a week through the summer months). What test should be used? Is this a one-tailed or two-tailed test?
(  two sample difference of proportions, one tailed
(  two sample difference of proportions, two tailed
(  two sample difference of means t, one tailed
(  two sample difference of means t, two tailed

6. A measurement is …
(  always a number
(  either a number or a text string
(  a variable
(  the score of a variable

7. A medical geographer has data from the Centers for Disease Control listing the number of AIDS cases per 100,000 population by county for all 3,143 counties in the United States. His task is to construct a choropleth map based on a classification of these AIDS figures. What method of classification would be most appropriate if the goal is to have roughly an equal number of areas al-located to each of five categories?
(  quantile breaks
(  equal interval breaks
(  natural breaks
(  manual classification

8. A private high school is situated in the center of a five-neighborhood region. Each neighborhood has about the same high school age population. A random selection of 100 students at the high school resulted in the following counts (22, 24, 13, 24, and 17). That is, 22 students selected are from neighborhood 1, 24 from neighborhood 2, and so on. What technique can be used to help determine if student enrollments vary by neighborhood?
(  chi-square goodness-of-fit—equal 
(  chi-square goodness-of-fit—proportional
(  Pearson’s r
(  ANOVA

9. A recreation geographer is testing the effectiveness of an attendance prediction model from a set of cities to a system of regional state parks. It is expected that attendance will be directly related to city population size and inversely related to distance from the city to the state park. What statistical technique could be used to test the validity of this model?
(  regression
(  chi-square goodness-of-fit—proportional
(  ANOVA
(  correlation analysis

10. A regional planner is studying income inequalities in a set of counties in northern Appalachia. Median family income by county is known for both 1990 and 1995. How can the planner descriptively measure the relative dispersion of income among counties in 1990, then compare that directly -with relative dispersion of 1995 income?
(  matched pairs t
(  coefficient of variation
(  Chi-square 
(  Kruskal-Wallis test

11. According to a recent nationwide study, only 54 percent of all Americans can locate Mexico on a world map (a true fact). From a sample of 120 students in a geography course, 63 percent were able to locate Mexico. What test should be used to determine if the sample of students is a typical nationwide group? Is this a one-tailed or two-tailed test?
(  Chi-square goodness-of-fit test
(  two-sample difference of means
(  one-sample difference of proportions, one-tailed
(  one-sample difference of proportions, two-tailed

12. All of the following example attributes contain categories, except one. Which one?
(  rank: 1, 2, 3, 4, 5
(  vegetation: forest, grassland, marsh
(  diameter: 15, 21, 39, 42
(  toll road: Yes, No
13. All of the following statements about geostatistical data are true, except one. Pick the wrong one.
(  it is the result of statistical analysis and hence not truly measured data
(  it consists of point data, where the points are supposed to be representative for their neighbors
(  it consists of samples taken at fixed locations
(  it assumes spatial autocorrelation

14. All of the following statements are true, except one. Pick the wrong answer.
(  a spatial reference is another word for a x,y or x,y,z coordinate
(  a spatial reference can be absolute or relative
(  a spatial reference links map coordinates with geographic coordinates
(  a spatial reference tells us where on the Earth’s surface a particular geometry is referring to

15. Commercial secondary data
(  is cheaper than official data
(  is by definition biased because there is always somebody, who paid for its creation
(  grows in market share
(  is always worth its money

16. From a representative sample of British voters, how would a political geographer determine if the percentage of voters supporting conversion to the Euro differs significantly by gender?
(  two-sample difference of proportions
(  matched-pair t  test
(  Pearson’s r
(  Spearman’s rank correlation coefficient

17. Identify the wrong statement
(  scanning has replaced manual digitizing
(  scanned data has contains no geographic features
(  scanning creates large amounts of “dumb data”
(  scanned data can be useful as contextual background information

18. In geography (as opposed to geographic information science), we are mainly concerned with
(  conceptual modeling
(  data modeling
(  geo-temporal modeling
(  physical modeling

19. In georeferencing, we
(  need at least two well-known points
(  employ GPS to determine our location
(  link image data to map data
(  link table or image coordinates to real world coordinates

20. In recent years, it seems that there has often been a surplus of oil on the international market. Has this affected the volume of oil exported by the Organization of Petroleum Exporting Countries (OPEC)? With both the 1990 and current annual volume of oil exported from each OPEC country, how could a geographer test whether the volume of oil exports has decreased significantly?
(  chi-square goodness-of-fit—proportional
(  matched pairs t
(  two-sample difference test—Wilcoxon/Mann-Whitney
(  Kruskal-Wallis test

21. In studies concerning crop damage caused by in-sect infestations in the lower Liao River Valley of China, the role of fertilizer is examined in detail. What test would be appropriate if officials want to predict the amount of insect damage on a farm not included in the study sample, solely based on the amount of fertilizer used?
(  regression analysis
(  correlation analysis
(  contingency analysis
(  Chi-square test

22. London, England, has a long, normally distributed record of annual precipitation. Someone wants to know what statistical procedure should be used to estimate the likelihood that more than 1,000 millimeters of precipitation will fall next year. As a step in this process, what statistic needs to be calculated?
(  mean
(  standard score 
(  variance
(  standard error

23. Measurements of the amount of water that flows in a river at any given time are
(  nominal
(  ordinal
(  interval
(  ratio

24. Pick the correct completion of the sentence starting with “A lattice …”
(  consists of non-overlapping areas
(  can only be applied to polygon data
(  describes the fill pattern of polygons on a map
(  is a regular dissection of space

25. Pick the correct phrase to complete the sentence “A megabyte is…”
(  1,000,000 bytes
(  1,000,000 bytes
(  1,024,000 bytes
(  1,048,576 bytes

26. Point-mode digitizing
(  creates many redundant points
(  is rarely used because every point has to be explicitly digitized, which is very tedious
(  is common in transport planning applications
(  is inferior to stream-mode digitizing, where the computer generates most points intelligently

27. Successful cartographic communication requires all but one of the following. Identify the odd statement:
(  identification of the audience
(  agreement on meaning of the symbols used
(  understanding of power relationships
(  avoidance of visual clutter

28. Suppose an urban geographer is studying historical changes in housing characteristics in London, England. She wishes to determine if house size (square feet of living area) and the number of years since home construction are associated. What method could she use to learn if such a relationship exists?
(  ANOVA
(  Chi-square goodness-of-fit test
(  Kolmogorov-Smirnov goodness-of-fit test
(  correlation

29. Suppose there are two choropleth maps of Texas counties—one showing median family income in one of five ordinal categories, and another showing the percentage of labor force in professional occupations classified into four ordinal categories. What technique should be used to learn if the two choropleth map patterns are related?
(  Spearman's rank correlation coefficient
(  Kolmogorov-Smirnov goodness-of-fit test
(  Kruskal-Wallis test
(  Wilcoxon matched-pairs signed difference test

30. Suppose you wrap a cylinder around the earth so that it touches along the equator. Then, you project a light source through the globe onto the cylinder. Which of the following statements best describes the resulting map?
(  the map will be accurate in the equatorial zone
(  the map will be accurate in the mid-latitude zone
(  the map will be accurate in the polar region
(  the map will not be accurate in any zone
31. The community of Sliding Stone, Pennsylvania, has five clearly identifiable neighborhoods. A geography major at the local university thinks lot sizes differ by neighborhood, so she selects a random sample of ten lots from each neighbor-hood. She assumes that lot sizes within each neighborhood vary by differing amounts. What statistical technique should she use to verify her hypothesis?
(  Kruskal-Wallis analysis of variance 
(  Chi-square goodness-of-fit test
(  Spearman’s rank correlation coefficient
(  Pearson’s r
32. The geo-relational principle ...
(  links geographic data with map data
(  links positions with attributes
(  forms the basis of most commercial databases management systems
(  determines the position of labels on a map

33. The U.S. Department of Housing and Urban Development continues to try to reduce crime rates in public housing projects. Data are available for many variables, including age, income, unemployment, and so on. What test could be used to estimate the crime rate in a housing project not included in the sample?
(  Pearson’s r
(  Chi-square
(  regression analysis
(  Kruskal-Wallis test

34. There are number of elements that make a map. Which of the following is not an essential element?
(  scale bar
(  context map
(  title
(  map body

35. When represented on a GIS map, all features have which of the following characteristics?
(  a location, shape, and symbol
(  a shape, scale, and area
(  a symbol, point, and area
(  an attribute, location, and length
36. When you're working at a large scale, almost any map projection that is centered on your area of interest will be fine
(  true
(  false

37. Which characteristic of a GIS map makes it different from a static map?
(  a GIS map is well designed
(  a GIS map is interesting to view
(  a GIS map is dynamic
(  a GIS map is informative
38. Which of the following image characteristics determine the smallest object that can be recognized?
(  scale
(  spectral resolution
(  spatial resolution
(  shape of the object

39. Which of the following is true about large-scale maps?
(  you can zoom in closer on small-scale maps than you can on large-scale maps.
(  you can zoom in closer on large-scale maps than you can on small-scale.
(  they show a larger area of the earth's surface than small-scale maps.
(  they show a smaller area of the earth's surface than small-scale maps.
40. Which of the following statements about directories is incorrect?
(  directories can be within directories
(  on one hard disks or removable storage medium, directory paths have to be unique
(  directory names can have special characters such as ‘.’ or ‘&’
(  directory paths in MS Windows and Unix are written the same way

